Project: Taylorcrest Water Plant No. 1 Improvements

Langford Engineering, Inc. (TBPE F-449) Project No. 200-015, Contract No. 1

330 Calendar Days

lterr No.		Approx. Quantity	Unit		ton Corporation exas 5% B.B.	Tidal Co Sealy, Texas	Construction, Inc. xas10% G.A.B.		Black Cas New Brau		eneral Contractors , Texas 5% B.B.	R & B Houston, Tex	p, Inc. 5% B.B.	Gemini Contracting Services, Inc. Houston, Texas 5% B.B.			
				Unit Price	Total	Unit Price		Total	Unit Pric	е	Total	Unit Price		Total	Unit Price		Total
	Base Bid Items																
	Mobilization, Not to Exceed 5% of																
1.	Base Bid	1	L.S.	\$ 25,000.00	\$ 25,000.00	\$ 45,000.00	\$	45,000.00	\$ 55,300	0.00	\$ 55,300.00	\$ 35,000.00	\$	35,000.00	\$ 50,000.00	\$	50,000.00
	Proposed 18" RCP Storm Sewer as Shown in the Contract																
2	Documents	185	L.F.	\$ 100.00	\$ 18,500.00	\$ 300.00	\$	55,500.00	\$ 128	8.00	\$ 23,680.00	\$ 100.00	\$	18,500.00	\$ 80.00	¢	14,800.00
2.	Doodmonto	100	L.I .	φ 100.00	φ 10,000.00	φ 300.00	Ψ	33,300.00	ψιΖ	.00	φ 20,000.00	φ 100.00	Ψ	10,000.00	φ 00.00	Ψ	14,000.00
	Proposed Type "A" Inlets as																
3.	Shown in the Contract Documents	10	Ea.	\$ 2,500.00	\$ 25,000.00	\$ 2,000.00	\$	20,000.00	\$ 2,700	0.00	\$ 27,000.00	\$ 1,500.00	\$	15,000.00	\$ 5,000.00	\$	50,000.00
	Standard Storm Sewer Manhole																
	on Existing 48" Storm Sewer as																
4.	Shown in Contract Documents	1	L.S.	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$	5,000.00	\$ 5,600	0.00	\$ 5,600.00	\$ 5,500.00	\$	5,500.00	\$ 8,000.00	\$	8,000.00
5.	Proposed 15,000 Gallon ASME Stamped, Welded-Steel, Hydropneumatic Tank, Including Foundations, Coating Interior and Exterior, Disinfection, and Connection to Yard Piping, Electrical, and Air Systems, Freeze Protect as Necessary, as Shown on the Contract Documents	2	Ea.	\$ 82,000.00	\$ 164.000.0	\$ 75.000.00	\$	150,000.00	\$ 85,300	0.00	\$ 170,600,00	\$ 130.000.00	\$	260,000.00	\$ 126.000.00	\$	252.000.00
	Removal of, and Disposal of Existing Hydropneumatic Tank Foundation, and Associated Piping and Accessories as Shown in Contract Documents	2	Ea.	\$ 5,000.00) \$ 10,000.00			\$ 14,800			\$ 20,000.00			\$ 10,000.00		20,000.00
	Proposed 12" PVC Storm Sewer			• •,••••••	• • • • • • • • • • • • • • • • • • • •		Ť		•,•••			•,	Ť	,	• •••••••••	-	
1	as Shown 0n in Contract																
7.	Documents	85	L.F.	\$ 90.00	\$ 7,650.00	\$ 280.00	\$	23,800.00	\$ 118	8.00	\$ 10,030.00	\$ 100.00	\$	8,500.00	\$ 70.00	\$	5,950.00
8.	Standard Storm Sewer Manhole on Existing 24" Storm Sewer as Shown in Contract Documents	1	L.S.	\$ 5,000.00	\$ 5,000.00) \$ 4,000.00	\$	4,000.00	\$ 7,000	0.00	\$ 7,000.00	\$ 4,000.00	\$	4,000.00	\$ 5,000.00	\$	5,000.00
9.	Proposed Yard Piping to Connect Proposed Ground Storage Tank and Proposed Hydropneumatic Tanks to Well, Surface Water, Suction, and Distribution as Shown in Contract Documents	1	L.S.	\$ 105,000.00	\$ 105,000.00	\$ 66,000.00	\$	66,000.00	\$ 78,000	0.00	\$ 78,000.00	\$ 130,630.00	\$	130,630.00	\$ 144,000.00	\$	144,000.00

Bid Date: 2:00 p.m., Wednesday, October 26, 2016 Opened and Read at 2:00 p.m. Wednesday, October 26, 2016 Mayor's Office

Project: Taylorcrest Water Plant No. 1 Improvements

Langford Engineering, Inc. (TBPE F-449)

Project No. 200-015, Contract No. 1

330 Calendar Days

Bid Opening

													R & B Group, Inc.					Gemini Contracting Services, Inc.			
Item No.	Description of Work	Approx. Quantity	Unit	W. W. Pay Brookshire, Te	ton Corporation exas 5% B.B.	Tidal Co Sealy, Texas	nstruc	ction, Inc. 10% G.A.B.		ack Castle G w Braunfels		I Contractors Is 5% B.B.		R & B (Houston, Texa		p, Inc. 5% B.B.		Gemini Co Houstor	0	Services, Inc. 5% B.B.	
	Decemption of Work	Quantity	0	Unit Price	Total	Unit Price		Total	-	nit Price	, 10/0	Total	<u> </u>	Unit Price		Total	U	nit Price	, 10,400	Total	
10.	Proposed Route of Existing 8" Well Head, Piping, As Shown on Contract Drawings	1	L.S.	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$	5,000.00	\$	28,800.00	\$	28,800.00	\$	30,000.00	\$	30,000.00	\$	10,000.00	\$	10,000.00	
11.	Disconnect Existing Solution Lines, Reroute 1" PVC Solutions Lines Including Injectors as Shown in Contract Documents	1	L.S.	\$ 2,000.00	\$ 2,000.00	\$ 1,000.00	\$	1,000.00	\$	7,400.00	\$	7,400.00	\$	5,000.00	\$	5,000.00	\$	4,000.00	\$	4,000.00	
12.	Crushed Stone Flexible Base	715	S.Y.	\$ 15.00	\$ 10,725.00	\$ 14.00	\$	10,010.00	\$	18.00	\$	12,870.00	\$	30.00	\$	21,450.00	\$	50.00	\$	35,750.00	
13.	Concrete Pavement	715	S.Y.	\$ 110.00	\$ 78,650.00	\$ 125.00	\$	89,375.00	\$	105.00	\$	75,075.00	\$	50.00	\$	35,750.00	\$	90.00	\$	64,350.00	
14.	Trench Safety System, All Depths	270	L.F.	\$ 5.00	\$ 1,350.00	\$ 1.00	\$	270.00	\$	12.00	\$	3,240.00	\$	1.00	\$	270.00	\$	1.00	\$	270.00	
	Remove Existing and Replace with Proposed Coatings on Existing Welded Steel Ground Storage Tank (Interior and Exterior) and Above-Ground Piping Directly Connected to it																				
15.	(Exterior)	1	L.S.	\$ 110,000.00	\$ 110,000.00	\$ 100,000.00	\$	100,000.00	\$ 1	103,900.00	\$	103,900.00	\$	170,000.00	\$	170,000.00	\$ 1	60,000.00	\$	160,000.00	
16.	Remove and Dispose of Existing 12" Flow Control Valve and Replace with Flanged Spool Piece as Shown on Plans	1	L.S.	\$ 1,500.00	\$ 1,500.00	\$ 5,000.00	\$	5,000.00	\$	2,600.00	\$	2,500.00	\$	2,500.00	\$	2,500.00	\$	2,000.00	\$	2,000.00	
	Self-Contained Breathing Apparatus and Corrosion Resistant Wall-Mounted Case for			· · · · ·						·		·									
17.	Exterior Storage Remove and Dispose of Existing	1	L.S.	\$ 3,000.00	\$ 3,000.00	\$ 2,000.00	\$	2,000.00	\$	6,400.00	\$	2,500.00	\$	2,500.00	\$	2,500.00	\$	3,000.00	\$	3,000.00	
18.	Trees and Bushes, Including Root Balls, as Shown on Plans	1	L.S.	\$ 5,625.00	\$ 5,625.00	\$ 3,000.00	\$	3,000.00	\$	15,400.00	\$	15,400.00	\$	30,000.00	\$	30,000.00	\$	5,000.00	\$	5,000.00	
19.	Remove and Dispose of Existing Asphalt and Gravel Stock Piles, Complete in Place	20	C.Y.	\$ 100.00	\$ 2,000.00	\$ 30.00	\$	600.00	\$	671.00	\$	13,420.00	\$	20.00	\$	400.00	\$	200.00	\$	4,000.00	
	Total Amount Base Bid Item Nos. 1 - 19		-		. ,										•		·			,	
<u> </u>	Supplemental Items				\$ 585,000.00		\$	605,555.00			\$	671,915.00			\$	815,000.00			\$	838,120.00	
А.	Extra Structural Concrete	10	C.Y.	\$ 350.00	\$ 3,500.00	\$ 350.00	\$	3,500.00	\$	582.00	\$	5,820.00	\$	200.00	\$	2,000.00	\$	300.00	\$	3,000.00	
В.	Extra Reinforcing Steel or Extra Welded Wire Fabric	100	Lb.	\$ 1.00				100.00		6.00		600.00			\$	·	\$	1.00	\$	100.00	
	Extra 6-Inch Diameter Floor Patches	40	Ea.					4,000.00		116.00		4,640.00			\$		\$	200.00		8,000.00	

Project: Taylorcrest Water Plant No. 1 Improvements

Langford Engineering, Inc. (TBPE F-449)

Project No. 200-015, Contract No. 1

330 Calendar Days

Project: Taylorcrest Water Plant No. 1 Improvements

Langford Engineering, Inc. (TBPE F-449) Project No. 200-015, Contract No. 1

Bid Date: 2:00 p.m., Wednesday, October 26, 2016 Opened and Read at 2:00 p.m. Wednesday, October 26, 2016 Mayor's Office

330 Calendar Days

ltem No.	Description of Work	Approx. Quantity	Unit	W. W. Pay Brookshire, Te	prporation 5% B.B.	Tidal Con Sealy, Texas	struc	ction, Inc. 10% G.A.B.	Black Castle C New Braunfels		R & B Houston, Tex	ıp, Inc. 5% B.B.		ntracting n, Texas	ntracting Services, Inc. , Texas 5% B.B.	
				Unit Price	Total	Unit Price		Total	Unit Price	Total	Unit Price	Total	Unit Price		Total	
	Total Amount Alternate Bid Item One (Items No. A1)				\$ 340,000.00		\$	400,000.00		\$ 392,500.00		\$ 300,000.00		\$	350,000.00	
	Total Amount Alternate Bid Item One (Items No. A2)				\$ 390,000.00			N/B		\$ 459,700.00		\$ 315,000.00		\$	420,000.00	
	Total Amount Base Bid (Item Nos. 1 - 19) and Alternate Bid Item One (Item No. A1)				\$ 925,000.00		\$	1,005,555.00		\$ 1,064,415.00		\$ 1,115,000.00		\$	1,188,120.00	
	Total Amount Base Bid (Item Nos. 1 - 19) and Alternate Bid Item No. 2 (Item No. 2)				\$ 975,000.00			N/B		\$ 1,131,615.00		\$ 1,130,000.00		\$	1,258,120.00	
	Total Amount Base Bid (Item Nos. 1 - 19), Supplemental Item A-F), and Alternate Bid Item No. 1 (A1)				\$ 935,000.00		\$	1,014,055.00		\$ 1,076,875.00		\$ 1,121,700.00		\$	1,200,770.00	
	Total Amount Base Bid (Item Nos. 1 - 19), Supplemental Item A-F), and Alternate Bid Item No. 2 (A2)				\$ 985,000.00			N/B		\$ 1,144,075.00		\$ 1,136,700.00		\$	1,270,770.00	

Project: Taylorcrest Water Plant No. 1 Improvements

Langford Engineering, Inc. (TBPE F-449) Project No. 200-015, Contract No. 1

330 Calendar Days

ltem No.	Description of Work	Approx. Quantity	Unit	W. W. Payton C Brookshire, Texas	5% B.B.	Sealy, Texas	struction, Inc. 10% G.A.B.	New Braunfels		Houston, Texas		Gemini Contracting Services, Inc. Houston, Texas 5% B.B.		
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Bid E	rrors									- 19) and Alternat (Item No. A2) Amount Bid: \$1, Correct Amount: Total Amount Bas - 19), Supplemen and Alternate Bid No. A1) Amount Bid: \$1, Correct Amount:	 (1,000.00) (3,315,000.00) (3,315,000.00) (4,110,000,00) (4,1130,000.00) (4,1130,000.00) (4,1121,000.00) (4,1121,700.00) 	Amount Bid: \$833, Correct Amount: \$ Total Amount Base and Alternate Bid It Amount Bid: \$1,18 Correct Amount: \$ Total Amount Base and Alternate Bid It Amount Bid: \$1,25 Correct Bid: \$1,25 Total Amount Base Supplemental Item Item One (Item No. Amount Bid: \$1,19 Correct Amount: \$ Total Amount Base	00.00 50,000.00 Bid Item Nos. 1 - 19) 120.00 338,000.00 a Bid (Item Nos. 1 - 19) em One (Item No. A1) 3,120.00 1,188,120.00 a Bid (Item Nos. 1 - 19) em No. 2 (Item No. A2) 3,120.00 3,120.00 3,120.00 Bid (Items Nos. 1 - 19), A - F) and Alternate Bid A1) 5,770.00 1,200,700.00 a Bid (Item Nos. 1 - 19), A - F), and Alternate Bid A2) 5,770.00	

DC-01\Office\Current Proj\Bid Tab\Bunker Hill\200-015 #1

Bid Date: 2:00 p.m., Wednesday, October 26, 2016 Opened and Read at 2:00 p.m. Wednesday, October 26, 2016 Mayor's Office